FIXED FRAME SCREEN

INSTRUCTION MANUAL

Thank you for choosing to use our product! For your better
use of the product, please read and keep this manual carefully
before installation and use. Due to the improvement of the
product, the product you purchased may not be the same as
the description in the manual. We apologize for that!

CONTENTS

KNOWING YOUR SCREEN

ASSEMBLING YOUR SCREEN


https://manuals.plus/m/59f38bd3c6f1a0634113f1b822b98033731d0b2b235ed9f15368582ccb062108

= ) e
As .

KNOWING YOUR ’
SCREEN




i3 Package Contents

=——R1\
= 1A [ =1 1-C
EBEeem———— 18 E =4 1-C
g I
[ @ Inner Frames *4 @ Inner Frames *2 }
Cross  *2 M4*8 Gloves
2 Screwdriver © SupportRod *1 - @ Screws *16 © *2 (pairs) J
= s
—_——
—
——
- ) .
® ALR Screen *1 @ gﬁﬁ)rs(‘:]lass * (8] Sﬁrﬁ‘v;gs N @ Hooks *2
: 10-A
1 10-A
‘ 10-B 10-C
110-B
[ @ Exterior Frames *4 @ Exterior Frames *2 }

03 // ALR Screen for UST Projector

@i

® Protec‘[ors*4 e Templates

Corner

Wall Drilling

«1 @ with Screws *8 @ Level «

Ruler

Wall Anchors
(sets)

e

Upper Wall
Brackets *2

® Lower Wall
Brackets *2

®Adheswve

@ User Manual *1 Tapes *4

ALR Screen for UST Projector // 04



Al Assemble the Inner Frames

1. Connect the horizontal frames and fasten the M5*7 screws.
2. Insert the four corner connectors into the horizontal inner frames,
and fix the corners with M5*7 screws as shown below.

—v_

ASSEMBLING
YOUR SCREEN

Corner Connector

l
i 1A | @j IBE f

Horizontal Frames

Connecting Rod

1-C

Push

T1c
Vertical Frame

ALR Screen for UST Projector // 06



3. Install the support rod as shown below.

i = T

Support Rod:
»—— Vertical to the

M4*8 ScrewT horizontal frames

&

X3 Assemble the Screen

1. Put on gloves and place a clean cloth (or use the packaging material
for the screen) on a flat, clean and level surface.

2. Unroll the screen, place it face down on the cloth, then insert the
fiberglass strips into the screen sides.
Caution: Handle with care. Avoid any creases on the screen.

Q07 // ALR Screen for UST Projector

Screen side

face down
Black side
N S face up

Clean,
flat cloth

7-A: Long Fiberglass Strip
7-B: Short Fiberglass Strip

3. Put the assembled frames on the back side of the screen.
Note: short-focus anti-light screen is directional and needs to be
well matched with the frames.

ALR Screen for UST Projector // 08



— Corner alignment mark

back side

Cloth ——e L Screen

Screen lower edge mark
(for short-focus anti-light
screen only)

4. Fix the screen onto the frame with all the springs in order as
indicated below (corners, short sides, then long sides).

09 // ALR Screen for UST Projector

Hooks
Grooves l

Fiberglass Strip

Sprin
J pring Inner Frame

lFx

Note:

After extended use, the screen
may become less taut. Attach the
springs to the innermost groove to
re-flatten it.

5. Hold the screen upright and ensure that it is taut and flat.
Adjust the springs until no creases observed.

ALR Screen for UST Projector // 10



y:) Assemble the Outer Frames

1. Place the outer frames against the inner frames, align the four
corners and fix with the included M4*8 screws.
2. Fix the plastic corner protectors onto the four corners.

3 2 3
m 10-B 10-A Gﬁ

2
10-C
10-C

g 10-A 10-B o
= R R |

10-A/10-B:  Horizontal Outer Frame
@ : Corner Protector

10-C: Vertical Outer Frame

Inner Frame

Outer Frame

Screen

|

11// ALR Screen for UST Projector

.8 Mount on the Wall

1. Estimate the wall mount area for the screen. The lower edge of
the screen should be 60-80cm / 23.6-31.5 in above the ground
(as shown below).

2. Measure the distance between the spots where the wall
brackets will be mounted with the included level ruler.

Recommended Distance

3.6in

+1.8in

3.0/in

9.8in

—— 4

ALR Screen for UST Projector // 12



3. Make sure the screen is correctly assembled, then wrap the
eeeeee front with the cloth to prevent it from being damaged or
scratched.

4. Drill holes respectively and install the four wall brackets using
the wall anchors with screws.
Note: Make sure the brackets are level with the level ruler.

¢ \\
RS
SRt
ERANSS NNSSSS
S
NSRRI
\\\\ ~"\\\\
S
AN

@ : Wall Drilling Templates

® : Wall Anchors with Screws
@® : Upper Wall Brackets

@® : Lower Wall Brackets




5. Mount the screen onto the wall as shown below. ) )
pA:) Screen Height Adjustment
1) Insert the lower side of the screen into the lower wall bracket,
then push upwards to compress the spring.

2) Insert the upper side of the screen into the upper wall bracket,

Adjust the upper wall bracket by adjusting the screws in the lower
then release.

holes, so that the screen height can be adjusted (adjustable range:
0-50mm).

e ] ﬂ |
Tl I — |
7 ] H S
\2 j rﬁor ﬁor
Ot .

15 // ALR Screen for UST Projector ALR Screen for UST Projector // 16



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9

